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1 a) Using the graphical method, solve the quadratic equation �=2x2-12x+16, for 0 ≤ � ≤ 5. 
 (4mks) 

b) Determine the equation of the line passing through point (18,6) and has  a gradient of -12

 (4mks) 

c) The ages of 6 students in a class are: 

           17,15,18,21,14,19 

            Determine the median age       

 (2mks) 

 d) Make U subject of the formula: 

                            � = 	

	��
        (4mks) 

e) What is the simple interest earned on sh.35,000 at 14.5% per annum for 3 years.(6mks) 

f) The length L cm of a wire varies directly as the temperature T⁰C. The length of the wire is 

5cm when the temperature is 65⁰C.calculate the length of the wire when 

temperature is 69⁰C   (4mks) 

g) Plot the graph for � = ���2� ��� 0⁰ ≤ �360⁰     (6mks) 

2 a) Given the arithmetic sequence 4,11,18 … …write down the first term and the 6th term 

of the sequence (4mks) 

b)  The sum of the first three terms of a geometric sequence is 26.if the common ratio is 3, 

find the sum of the first six terms of these sequence     

  (6mks) 

 

       c)  Given the following matrix: B= � 7 −3
−2 4   

     Determine the value of !-1    and the determinant of B               

   (4mks) 

     d) Given the matrix  

A=(−4 3
5 2)       and B=� 7 −3

−2 4   



Determine (i) (AT)-1     (4mks) 

      (ii) 2A+3B       (4mks) 

3   a)The following is a distribution table of profits of companies in the same industry 

   

 

 

       Profit(ksh 000’s) Number of companies 

                   0-10 

                  10-20 

                  20-30 

                  30-40 

                  40-50 

                  50-60 

                5 

               15 

               40 

               20 

               16 

                4 

                Calculate the: 

i)      Mean 

ii)      Median 

            (8mks) 

        (b)  Solve the following inequality 

 (5� + 5)/−10 ≤ 2� − 1       (2mks) 

4.The sum of the first 6 terms of an arithmetic series is 46 and the 10th them of the same series is 

102. 

Determine  i)    the first term 

iii) the common difference 

iv) The 12th term of the series      (10mks) 

   


